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MR a &t 5hUKRiE 5hy~19kY 20~V ~99+Y 100+VELE
#“ it 5,982 1,311 10 5,003 718 952 567 6 6 21 20 1
T = # K & 977 431 10 637 150 328 270 12 1
mMmE (R #E) 88 20 65 1 23 19
% i 42 2 35 1 7 1
EAE (kERE) 42 15 32 10 10 5
B a R ( %) 23 11 14 4 9 7
BaR (= E) 16 13 3
BEAMR (8 @A) 19 5 13 4 6 1
BAMR(EFIR) 155 112 64 24 91 88
BHMR(EF) 130 84 58 16 72 68
# B I H 23 1 19 1 4
PR i} BT 79 23 60 5 19 18
BA R (fntES) 36 19 19 5 17 14
= ¥ M H 49 6 42 4 7 2
B4R (A %a) 18 2 15 2 3
AR (X MEHE) 35 19 28 13 7 6
maE (T W) 8 1 8 1
EHE(FEFEXRNL) 20 11 18 10 2 1
% = 142 69 107 40 35 29
MR (RA) 16 11 8 3 8 8
mMmE (=) 22 8 18 6 4 2
BHMRFICIMEMES 12 11 10 12 1
Zx = W & # 2 1 1 1 1
I v - 2,442 465 2,148 307 95 285 149 4 4 5 5
mmE(F #H) 91 18 78 10 13 3
BHER(FE KX) 2 2
BAaRCKEA) 49 13 40 7 9 6
BAMRCHN) 96 19 85 17 1" 2
AR (EFEA) 1 1 1 1
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MR a B 5 hUKiH 5kY~19kY 20hV~99bY 100+VELE
Han Pl oen |22 | B0 |loen | R 2 |20 loen |2 2 8 Cloen | R B |2 P leen| R E|EC
B oa B (%) 5 5
SHME(T/mMI) 50 39 40 29 10 10
MR (LA 15 5 38 3 7 2
= # 79 18 67 11 12 7
AR (F K) 260 101 224 74 36 27
BANR (= EH) 71 5 69 4 2 1
EHE(FO) 45 1" 40 7 5 4
BAR (RN . 8 1
TLEEZ (INF A) 16 7 13 4 3 3
TCHE (K A) 5 : 5 i
<L E (A #) 43 9 42 8 1 1
FCHB(HEHE) 2 2 6
TLCEE (A R) 15 2 13 1 2 1
FIKCHLE(HMEBE) 134 14 116 10 18 4
TLEE (—9) 34 7 29 5 5 2
FLEE(RFE ) 94 25 54 4 40 21
1% A 82 1 67 1 15
TCHE (B E) 32 5 18 14 5
FCHB (BB . o
TCHLE(RE) 65 4 57 2 8 2
TLEE (MR K) 49 2 48 2 1
ICHEE (K E) 77 8 58 19 8
FCHE (RS H) 30 5 27 3 3 2
TLHEE (KR 241 14 201 11 40 3
% # 104 5 78 2 26 3
TCEE (HOB) 58 24 13 14 15 10
s M h DB 4 4 2 2 2 2
Tk EFEKTAE S 1 1
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